

Iterative Methods for Solving the Nonlinear Matrix Equation

$$X - A^* X^p A - B^* X^{-q} B = I \quad (0 < p, q < 1)$$

Dongjie Gao

Department of Mathematics, Heze University, Heze, China

Email: aizai_2004@126.com

How to cite this paper: Gao, D.J. (2017) Iterative Methods for Solving the Nonlinear Matrix Equation

$$X - A^* X^p A - B^* X^{-q} B = I \quad (0 < p, q < 1).$$

Advances in Linear Algebra & Matrix Theory, 7, 72-78.

<https://doi.org/10.4236/alamt.2017.73007>

Received: September 4, 2017

Accepted: September 24, 2017

Published: September 27, 2017

Copyright © 2017 by author and Scientific Research Publishing Inc. This work is licensed under the Creative Commons Attribution International License (CC BY 4.0).

<http://creativecommons.org/licenses/by/4.0/>



Open Access

Abstract

Consider the nonlinear matrix equation $X - A^* X^p A - B^* X^{-q} B = I$ ($0 < p, q < 1$). By using the fixed point theorem for mixed monotone operator in a normal cone, we prove that the equation with $0 < p, q < 1$ always has the unique positive definite solution. Two different iterative methods are given, including the basic fixed point iterative method and the multi-step stationary iterative method. Numerical examples show that the iterative methods are feasible and effective.

Keywords

Nonlinear Matrix Equation, Positive Definite Solution, Iterative Method, Normal Cone

1. Introduction

We consider the matrix equation

$$X - A^* X^p A - B^* X^{-q} B = I, \quad 0 < p, q < 1 \quad (1.1)$$

where I is an $n \times n$ identity matrix, A, B are arbitrary $m \times n$ matrices. A^* , B^* are used to denote the conjugate transpose of the matrix A and B , separately.

Equation (1.1) often arises in dynamic programming, control theory, stochastic filtering, statistics, and so on, see [1]. Equation (1.1) has been investigated in some special cases [1]-[10]. Reurings [2] showed that the matrix equation $X - A^* X^p A = I$ ($0 < p < 1$) and $X - A^* X^{-q} A = I$ ($0 < q < 1$) always has a unique positive definite solution. Recently, Gao [3] provides a new proof for the uniqueness of the positive definite solution of the matrix equation

$X - A^* X^q A = I$ ($0 < q < 1$) via the fixed point theorem. The method is shown much easier than the way of [1]. Based on this, we study the combination of these two kinds of equations (*i.e.* Equation (1.1)).

In this paper, we prove that the Equation (1.1) always has the unique positive definite solution by using the fixed point theorem for mixed monotone operator in the normal cone $P(n)$. Furthermore, two different iterative methods are given, including the basic fixed point iteration method and multi-step stationary iterative method. In addition, numerical examples show that the iterative methods are feasible and effective.

In this paper, we use $H(n)$ to denote $n \times n$ Hermitian matrices, $\mathcal{P}(n)$ to denote $n \times n$ positive definite matrices, and $\bar{\mathcal{P}}(n)$ to denote $n \times n$ positive semidefinite matrices. For $X, Y \in \mathcal{P}(n)$, we write $X \geq Y$ ($X > Y$) if $X - Y$ is positive semidefinite (definite).

2. Uniqueness of Positive Definite Solution

In this section, we will prove that the equation $X - A^* X^p A - B^* X^{-q} B = I$ ($0 < p, q < 1$) always has the unique positive definite solution. In the process, we need to use the fixed point theorem for mixed monotone operator in a normal cone. So we first introduce the relevant theory through several definitions and lemmas. In this paper, we always use P to denote a solid cone of a real Banach space E . P^0 to denote the interior points set of P . A cone is said to be a solid cone if $P^0 \neq \emptyset$.

Definition 2.1. [11]. A cone $P \subset E$ is said to be normal if there exists a constant $N > 0$ such that $0 \leq x \leq y$ implies $\|x\| \leq N\|y\|$. That is the norm $\|\cdot\|$ is semimonotone.

Definition 2.2. [11]. The operator $\Gamma: D \times D \rightarrow E, D \subset P$ is said to be a mixed monotone operator if $\Gamma(x, y)$ is increasing in x and decreasing in y , that is,

$$\Gamma(x_1, y_1) \geq \Gamma(x_2, y_2), \forall x_1, x_2, y_1, y_2 \in D \text{ with } x_1 \leq x_2 \text{ and } y_2 \leq y_1.$$

An element x^* is called a fixed point of Γ if $\Gamma(x^*, x^*) = x^*$.

Lemma 2.1. [12]. Let P be a normal and solid cone of a real Banach space E and $\Gamma: P^0 \times P^0 \rightarrow P^0$ be a mixed monotone operator. Assume that for all $0 < t < 1$, there exists $0 < \beta < 1$ such that

$$\Gamma\left(tx, \frac{1}{t}y\right) \geq t^\beta \Gamma(x, y)$$

holds for all $x, y \in P^0$. Then Γ has exactly one fixed point x^* in P^0 . And for any $x_0, y_0 \in P^0$, we have

$$\lim_{n \rightarrow \infty} x_n = \lim_{n \rightarrow \infty} y_n = x^*,$$

where

$$x_n = \Gamma(x_{n-1}, y_{n-1}), y_n = \Gamma(y_{n-1}, x_{n-1}), \quad n = 0, 1, 2, \dots$$

Lemma 2.2. [11]. A cone P is normal if and only if $x_n \leq z_n \leq y_n$, $x_n \rightarrow x$ and

$y_n \rightarrow x$ imply $z_n \rightarrow x$.

Lemma 2.3. [13]. If $A \geq B > 0$ and $0 \leq \gamma \leq 1$, then $A^\gamma \geq B^\gamma$.

We define the spectral norm $\|\cdot\|$ in $H(n)$, then $H(n)$ is a real Banach space. We all know that $\bar{P}(n)$ is a cone in $H(n)$ and the interior points set is $P(n)$. Since the spectral norm is monotone, then we have that the set $\bar{P}(n)$ is normal cone from Definition 2.1. We define F by $F(X, Y) = I + A^* X^p A + B^* Y^{-q} B$, then we have the following theorem.

Theorem 2.1. Equation (1.1) always has a unique positive definite solution X . And for any $X_0, Y_0 \in P^0$, we have

$$\lim_{n \rightarrow \infty} X_n = \lim_{n \rightarrow \infty} Y_n = X^*,$$

where

$$X_n = F(X_{n-1}, Y_{n-1}), Y_n = F(Y_{n-1}, X_{n-1}), \quad n = 0, 1, 2, \dots$$

Proof. Consider that the solution of Equation (1.1) is a fixed point of F . Now we will prove that the operator F satisfies the conditions of Lemma 2.1.

For $\forall X, Y, Z, W \in P(n)$ with $X \geq Y, W \geq Z$, by Lemma 2.3, we have

- 1) $F(X, Y) = I + A^* X^p A + B^* Y^{-q} B \in P(n)$, that is $F : P(n) \times P(n) \rightarrow P(n)$;
- 2) $F(X, Z) = I + A^* X^p A + B^* Z^{-q} B$
 $\geq I + A^* Y^p A + B^* W^{-q} B$
 $= F(Y, W)$,

which means that the operator F is mixed monotone;

- 3) Let $\beta = \max\{p, q\}$, then we have $0 < \beta < 1$. For $\forall t \in (0, 1)$, we get

$$\begin{aligned} F\left(tX, \frac{1}{t}Y\right) &= I + A^* t^p X^p A + B^* \left(\frac{1}{t}\right)^{-q} Y^{-q} B \\ &= I + A^* t^p X^p A + B^* t^q Y^{-q} B \\ &\geq t^\beta I + t^\beta A^* X^p A + t^\beta B^* Y^{-q} B \\ &= t^\beta F(X, Y). \end{aligned}$$

According to Lemma 2.1, we get that the operator F has a unique fixed point X in $P(n)$, which is the unique positive definite solution of Equation (1.1).

Furthermore, for any $X_0, Y_0 \in P^0$, we have

$$\lim_{n \rightarrow \infty} X_n = \lim_{n \rightarrow \infty} Y_n = X^*,$$

where

$$X_n = F(X_{n-1}, Y_{n-1}), Y_n = F(Y_{n-1}, X_{n-1}), \quad n = 0, 1, 2, \dots$$

□

3. Iterative Methods

In this section, we propose two different iterative methods for solving Equation (1.1), including the basic fixed point iterative method and multi-step stationary iterative method.

According to Theorem 2.1, sequences

$X_n = F(X_{n-1}, Y_{n-1}), Y_n = F(Y_{n-1}, X_{n-1}), n = 0, 1, 2, \dots$ converge to the unique positive definite solution of Equation (1.1). Let $X_0 = Y_0$, we have $X_n = Y_n = F(X_{n-1}, X_{n-1}) = I + A^* X_{n-1}^p A + B^* X_{n-1}^{-q} B$. Consider the above iteration, which is the basic fixed point iterative method. The following are the algorithm.

Take $X_0 = I$

$$X_{n+1} = I + A^* X_n^p A + B^* X_n^{-q} B, \quad n = 0, 1, 2, \dots \quad (3.1)$$

We then consider a kind of multi-step stationary iterative method.

Theorem 3.1. For arbitrary initial matrix $X_1, X_2 \in P(n)$, the matrix sequence

$$X_{n+1} = I + A^* X_{n-1}^p A + B^* X_{n-1}^{-q} B, \quad n = 2, 3, \dots \quad (3.2)$$

converges to the unique positive definite solution X of Equation (1.1).

Proof. Since X is the unique positive definite solution of Equation (1.1). For X, X_1 and X_2 , there exist a positive number $0 < \alpha \leq 1$ satisfy:

$$\alpha X \leq X_1, X_2 \leq \alpha^{-1} X. \quad (3.3)$$

For any positive integer k , there exists a unique nonnegative integer K such that $k = 2K + 1$ or $k = 2K + 2$. We will use mathematical induction to prove the following inequality

$$\alpha^{\beta^k} X \leq X_k \leq (\alpha^{-1})^{\beta^k} X, \quad k = 1, 2, \dots \quad (3.4)$$

where $\beta = \max\{p, q\}$. When $K = 0$, that is $k = 1, 2$, the inequality (3.4) holds following (3.3). When $K = n - 1$, that is $k = 2n - 1, 2n$, Assume (3.4) is true. That is

$$\alpha^{\beta^{n-1}} X \leq X_{2n-1}, X_{2n} \leq (\alpha^{-1})^{\beta^{n-1}} X. \quad (3.5)$$

Now we need to prove (3.4) is true for $K = n$, at this time $k = 2n + 1, 2n + 2$. From (3.5) and $\beta = \max\{p, q\}$, we get that

$$\alpha^{\beta^n} X^p \leq \alpha^{\beta^{n-1}p} X^p \leq X_{2n-1}^p \leq (\alpha^{-1})^{\beta^{n-1}p} X^p \leq (\alpha^{-1})^{\beta^n} X^p,$$

$$\begin{aligned} \alpha^{\beta^n} X^{-q} &\leq \alpha^{\beta^{n-1}q} X^{-q} = (\alpha^{-1})^{\beta^{n-1}(-q)} X^{-q} \leq X_{2n}^{-q} \\ &\leq \alpha^{\beta^{n-1}(-q)} X^{-q} = (\alpha^{-1})^{\beta^{n-1}q} X^{-q} \leq (\alpha^{-1})^{\beta^n} X^{-q}, \end{aligned}$$

From $0 < \alpha \leq 1$, it follows that $0 < \alpha^{\beta^n} \leq 1$, $(\alpha^{-1})^{\beta^n} \geq 1$. Then

$$\begin{aligned} X_{2n+1} &= I + A^* X_{2n-1}^p A + B^* X_{2n}^{-q} B \\ &\geq \alpha^{\beta^n} I + A^* \alpha^{\beta^n} X^p A + B^* \alpha^{\beta^n} X^{-q} B \\ &= \alpha^{\beta^n} [I + A^* X^p A + B^* X^{-q} B] \\ &= \alpha^{\beta^n} X \end{aligned}$$

and

$$\begin{aligned}
 X_{2n+1} &= I + A^* X_{2n-1}^p A + B^* X_{2n}^{-q} B \\
 &\leq (\alpha^{-1})^{\beta^n} I + A^* (\alpha^{-1})^{\beta^n} X^p A + B^* (\alpha^{-1})^{\beta^n} X^{-q} B \\
 &= (\alpha^{-1})^{\beta^n} [I + A^* X^p A + B^* X^{-q} B] \\
 &= (\alpha^{-1})^{\beta^n} X.
 \end{aligned}$$

Therefore

$$\alpha^{\beta^n} X \leq X_{2n+1} \leq (\alpha^{-1})^{\beta^n} X. \tag{3.6}$$

From $0 < q \leq 1$, (3.6) implies

$$\alpha^{\beta^n} X^{-q} \leq \alpha^{\beta^n q} X^{-q} \leq X_{2n+1}^{-q} \leq (\alpha^{-1})^{\beta^n q} X^{-q} \leq (\alpha^{-1})^{\beta^n} X^{-q}.$$

From (3.4), we have

$$\alpha^{\beta^n} X^p \leq \alpha^{\beta^{n-1} p} X^p \leq X_{2n}^p \leq (\alpha^{-1})^{\beta^{n-1} p} X^p \leq (\alpha^{-1})^{\beta^n} X^p.$$

Then

$$\begin{aligned}
 X_{2n+2} &= I + A^* X_{2n}^p A + B^* X_{2n+1}^{-q} B \\
 &\geq \alpha^{\beta^n} I + A^* \alpha^{\beta^n} X^p A + B^* \alpha^{\beta^n} X^{-q} B \\
 &= \alpha^{\beta^n} [I + A^* X^p A + B^* X^{-q} B] \\
 &= \alpha^{\beta^n} X
 \end{aligned}$$

and

$$\begin{aligned}
 X_{2n+2} &= I + A^* X_{2n}^p A + B^* X_{2n+1}^{-q} B \\
 &\leq (\alpha^{-1})^{\beta^n} I + A^* (\alpha^{-1})^{\beta^n} X^p A + B^* (\alpha^{-1})^{\beta^n} X^{-q} B \\
 &= (\alpha^{-1})^{\beta^n} [I + A^* X^p A + B^* X^{-q} B] \\
 &= (\alpha^{-1})^{\beta^n} X.
 \end{aligned}$$

Therefore

$$\alpha^{\beta^n} X \leq X_{2n+2} \leq (\alpha^{-1})^{\beta^n} X.$$

Now we have proved that (3.4) is true for $K = n$, at this time $k = 2n + 1, 2n + 2$.

Hence we get that the inequality (3.4) holds for any positive integer k . Let $k \rightarrow \infty$, then $K \rightarrow \infty$, we have

$$\alpha^{\beta^K} \rightarrow 1, (\alpha^{-1})^{\beta^K} \rightarrow 1.$$

Therefore,

$$X_k \rightarrow X.$$

4. Numerical Examples

We now use numerical examples to illustrate our results. All computations were

performed using MATLAB, version 7.01. we denote

$\varepsilon(X) = \|X - I - A^* X^p A - B^* X^{-q} B\|_\infty$, and use the stopping criterion $\varepsilon(X) < 1.0 \times 10^{-10}$.

Example 4.1. Consider Equation (1.1) with $p = \frac{1}{3}, q = \frac{1}{2}$ and

$$A = \begin{pmatrix} 0.1953 & 0.2310 \\ 0.1835 & 0.1796 \end{pmatrix}, B = \begin{pmatrix} 0.9501 & 0.6068 \\ 0.2311 & 0.4860 \end{pmatrix}.$$

We use the basic fixed point iterative method (3.1) to solve Equation (1.1). Let $X_0 = I$, after 14 iterations we get the following result:

$$X \approx X_{14} = \begin{pmatrix} 1.7834 & 0.5628 \\ 0.5628 & 1.5167 \end{pmatrix}$$

and $\varepsilon(X_{14}) = \|X_{14} - I - A^* X_{14}^p A - B^* X_{14}^{-q} B\|_\infty = 4.0992 \times 10^{-11}$.

Considering the multi-step stationary iterative method (3.2) with $X_1 = X_2 = I$, after 19 iterations we get the following result:

$$X \approx X_{19} = \begin{pmatrix} 1.7834 & 0.5628 \\ 0.5628 & 1.5167 \end{pmatrix}$$

and $\varepsilon(X_{19}) = \|X_{19} - I - A^* X_{19}^p A - B^* X_{19}^{-q} B\|_\infty = 3.1824 \times 10^{-11}$.

Example 4.2. Consider Eq.(1.1) with $p = \frac{1}{2}, q = \frac{1}{3}$ and

$$A = \begin{pmatrix} 0.2913 & 0.5185 & 0.6154 \\ 0.2621 & 0.4214 & 0.7919 \\ 0.0565 & 0.0447 & 0.8218 \end{pmatrix}, B = \begin{pmatrix} 0.9382 & 0.5355 & 0.3936 \\ 0.4763 & 0.0969 & 0.9579 \\ 0.9057 & 0.0013 & 0.8929 \end{pmatrix},$$

Considering the basic fixed point iterative method (3.1) with $X_0 = I$, after 13 iterations we get the following result:

$$X \approx X_{13} = \begin{pmatrix} 2.3605 & 0.8354 & 1.8154 \\ 0.8354 & 2.0042 & 1.6716 \\ 1.8154 & 1.6716 & 6.3423 \end{pmatrix}$$

and $\varepsilon(X_{13}) = \|X_{13} - I - A^* X_{13}^p A - B^* X_{13}^{-q} B\|_\infty = 9.7863 \times 10^{-11}$.

Considering the multi-step stationary iterative method (3.2) with $X_1 = I, X_2 = 2I$, after 35 iterations we get the following result:

$$X \approx X_{35} = \begin{pmatrix} 2.3605 & 0.8354 & 1.8154 \\ 0.8354 & 2.0042 & 1.6716 \\ 1.8154 & 1.6716 & 6.3423 \end{pmatrix}$$

and $\varepsilon(X_{35}) = \|X_{35} - I - A^* X_{35}^p A - B^* X_{35}^{-q} B\|_\infty = 5.8041 \times 10^{-11}$.

Acknowledgements

Sincere thanks to the members of ALAMT for their professional performance. The work was supported by the Natural Science Foundation of Shandong Province of China (ZR2015AL017, ZR2014AM032), the Science Reseach Foundation of Heze University (XYKJ07).

References

- [1] Ferrante, A. and Levy, B.C. (1996) Hermitian Solutions of the Equation $X = Q + NX^{-1}N^*$. *Linear Algebra and its Applications*, **247**, 359-373.
[https://doi.org/10.1016/0024-3795\(95\)00121-2](https://doi.org/10.1016/0024-3795(95)00121-2)
- [2] Reurings, M.C.B. (2003) Symmetric Matrix Equations. Universal Press, The Netherlands.
- [3] Gao, D.J. and Zhang, Y.H. (2007) On the Hermitian Positive Definite Solutions of the Matrix Equation $X - A^*X^qA = Q (q > 0)$. *Mathematica Numerica Sinica*, **29**, 73-80.
- [4] Hasanov, V.I. (2005) Positive Definite Solutions of the Matrix Equations $X \pm A^*X^{-q}A = Q$. *Linear Algebra and Its Applications*, **404**, 166-182.
<https://doi.org/10.1016/j.laa.2005.02.024>
- [5] Jia, G.J. and Gao, D.J. (2011) Perturbation Estimates for the Nonlinear Matrix Equation $X - A^*X^qA = Q (0 < q < 1)$. *Journal of Applied Mathematics and Computing*, **35**, 295-304. <https://doi.org/10.1007/s12190-009-0357-z>
- [6] Li, J. and Zhang, Y.H. (2009) Perturbation Analysis of the Matrix Equation $X - A^*X^{-q}A = Q$. *Linear Algebra and Its Applications*, **431**, 1489-1501.
<https://doi.org/10.1016/j.laa.2009.05.013>
- [7] Xiao, H. and Wang, J.T. (2009) On the Matrix Equation $X - A^*X^{-p}A = Q (p > 1)$. *Chinese Journal of Engineering Mathematics*, **26**, 305-309.
- [8] Duan, X.F. and Liao, A.P. and Tang, B. (2008) On the Nonlinear Matrix Equation $X - \sum_{i=1}^m A_i^* X^{\delta_i} A_i = Q$. *Linear Algebra and Its Applications*, **429**, 110-121.
<https://doi.org/10.1016/j.laa.2008.02.014>
- [9] Lim, Y. (2009) Solving the Nonlinear Matrix Equation $X = Q + \sum_{i=1}^m M_i X^{\delta_i} M_i^*$ via a Contraction Principle. *Linear Algebra and its Applications*, **430**, 1380-1383.
<https://doi.org/10.1016/j.laa.2008.10.034>
- [10] Duan, X.F. and Liao, A.P. (2009) On Hermitian Positive Definite Solution of the Matrix Equation $X - \sum_{i=1}^m A_i^* X^r A_i = Q$. *Journal of Computational and Applied Mathematics*, **229**, 27-36. <https://doi.org/10.1016/j.cam.2008.10.018>
- [11] Guo, D.J. (2001) Nonlinear Functional Analysis. Shandong Sci. and Tech. Press, Jinan.
- [12] Guo, D.J. and Lakshmikantham, V. (1988) Nonlinear Problems in Abstract Cones. ACA-DEMIC Press, London.
- [13] Zhan, X. (2002) Matrix Inequalities. Springer-Verlag, Berlin.
<https://doi.org/10.1007/b83956>

Submit or recommend next manuscript to SCIRP and we will provide best service for you:

Accepting pre-submission inquiries through Email, Facebook, LinkedIn, Twitter, etc.

A wide selection of journals (inclusive of 9 subjects, more than 200 journals)

Providing 24-hour high-quality service

User-friendly online submission system

Fair and swift peer-review system

Efficient typesetting and proofreading procedure

Display of the result of downloads and visits, as well as the number of cited articles

Maximum dissemination of your research work

Submit your manuscript at: <http://papersubmission.scirp.org/>

Or contact alamt@scirp.org